
Projekt:   Werkstückanschlag 

Aufgabe:   Fußteil Pos. 1; 1. Aufspannung

Programmierung: Siemens ShopMill 

Autor:
Klasse:
Datum:

%_N_FUSSTEIL_SP1_POS1_MPF
;$PATH=/_N_WKS_DIR/_N_VDW_01_WPD
 

45G 1 .vtkplluN1SOP_1PS_LIETSSUF    5N

Programmkopf
45G 1 VPN : gnubeihcsrevtknuplluN

mm :mmargorP setmaseg rüf tiehnießaM
::liethoR

sba 000.0      =  0X :1 tknupkcE
sba 000.91-    =  0Y :1 tknupkcE

sba 000.0      =  0Z :1 tknupkcE
 000.43     =  1X : 2 tknupkcE
 000.91     =  1Y : 2 tknupkcE
 005.23-    =  1Z : 2 tknupkcE

Z :eshcaguezkreW
sba 000.02    =  PR :enebesguzkcüR

kni 000.2     =  CS :dnatsbastiehrehciS
fualhcielG ::nnisherdsgnutiebraeB

PR fua ::retsum-.soP guzkcüR
 

RUTNOK_SIERK :rutnoK   01N

N15   Bahnfräsen                                                                         T="SCHAFTFR_D25"  F0.06/Z V200m Z0=0 Z1=-33

Bahnfräsen
1D "52D_RFTFAHCS" =   T : emanguezkreW

nhaZ/mm 060.0      =   F : buhcsroV
nim/m 002        =   V : lhazherdlednipS

 ::rutkerroksuidaR
sträwrov :gnuthcirrutnoK .rgorp red ni gnutiebraeB

 :neppurhcs :gnutiebraeB
sba 000.0      =  0Z :ehcälfrebokcütskreW ehöH
sba 000.33-    =  1Z :0Z fua negozeb efeiT

000.11     =  ZD :efeiT gnulletsuZ .xaM
000.0      =  ZU :efeiT ßamfuathcilhcS

mm 001.0      = YXU :enebE ßamfuathcilhcS
edareG :enebE sudomrhafnA

esiewshca :gnulletsuznefeiT
 000.2      =  1L :egnälrhafnA

.tsniEn%.TpohS 000.0005   =  ZF :efeiT buhcsrovlletsuZ
edareG :enebE sudomrhafbA

esiewshca :eigetartsrhafbA
 000.2      =  2L :egnälrhafbA

enebesguzkcüR fua :gnulletsuZ retuenre rov sudomebehbA
 

N20   Bahnfräsen                                                                         T="SCHAFTFR_D25"  F0.06/Z V220m Z0=0 Z1=-33

Bahnfräsen
1D "52D_RFTFAHCS" =   T : emanguezkreW

nhaZ/mm 060.0      =   F : buhcsroV
nim/m 022        =   V : lhazherdlednipS

 ::rutkerroksuidaR
sträwrov :gnuthcirrutnoK .rgorp red ni gnutiebraeB

 :nethcilhcs :gnutiebraeB
sba 000.0      =  0Z :ehcälfrebokcütskreW ehöH
sba 000.33-    =  1Z :0Z fua negozeb efeiT

000.33     =  ZD :efeiT gnulletsuZ .xaM
edareG :enebE sudomrhafnA

esiewshca :gnulletsuznefeiT
 000.2      =  1L :egnälrhafnA

.tsniEn%.TpohS 000.0005   =  ZF :efeiT buhcsrovlletsuZ
edareG :enebE sudomrhafbA

esiewshca :eigetartsrhafbA
 000.2      =  2L :egnälrhafbA

enebesguzkcüR fua :gnulletsuZ retuenre rov sudomebehbA



Arbeitsplan: 

Volumenmodell: 

 

1=NednemmargorP      

1 =   N ::ekcütskreW lhaznA


